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1. The person who bought the LED light is not Nayeli.

2. The person who bought the sodium-vapor light is not Melina.

3. The runner who finished with a time of 3 min, 8 sec uses a 10-speed bike to get to work.

4. The commuter who rides a 10-speed bike finished after Melina.

5. Melina doesn't ride a mountain bike and didn't buy the fluorescent light.

6. The commuter who rides a skateboard didn't buy the sodium-vapor light.

7. The runner who finished with a time of 3 min, 5 sec is not London.

8. The person who bought the fluorescent light finished after Ariel.

9. The person who bought the mercury-vapor light is Ariel.

10. Either the commuter who rides a mountain bike or the commuter who rides a scooter bought the mercury-vapor light.

11. Of London and Ariel, one uses a skateboard to get to work and the other completed the race at 2 min, 59 sec.



